	Axelliant LLC	DOF CREATIONS, LLC	Emerging Technology Integrators	Gerelcom Inc.
Question 1. CONFIRMATION TO BIND	Confirmed	Confirmed	Confirmed	Confirmed
2. EXPERIENCE AND CAPABILITIES	Submitted, with various questions answered as "NA"	Submitted	Submitted	Submitted
3. FIRM'S UNDERSTANDING AND APPROACH TO THE WORK	Answered "NA" to every question.	Submitted	Submitted	Submitted
4. PREVIOUS EXPERIENCE	Answered "NA" to every question.	Submitted	Submitted	Submitted
5. PROJECT DOCUMENTS				
5.1 PROPOSERS BACKGROUND INFORMATION FORM	Submitted	Submitted	Submitted	Submitted
5.2 E-RATE CERTIFICATION FORM	Submitted, however left "Date of last certification" blank.	Submitted blank form, however re-submitted completed form once notified by the Procurement Department.	Submitted. SPIN 143033466 not valid on USAC website. Vendor stated "Our SPIN number remains 143033466. It is active, certified, and valid for E-Rate, however, it has not been updated on the USAC Supplier Listings. I contacted both E-Rate and	Not Submitted. USAC website shows two SPINs for Gerelcom:
	SPIN 143051637 is active on USAC website.	once notined by the Procurement Department.	Supplier customer support to verify all of this. It will take 3-5 days for the number to be listed online. In the meantime, E-Rate customer support provided a temporary SPIN for you to reference if needed. 143666666. Edgar is the E-Rate customer	SPIN 143022838 is closed on USAC website.
		SPIN 143052287 is active on USAC website.	support lialson who can very that can be used for Emerging Technology Integrators, Ltd in the interim."	SPIN 143048542 is active on USAC website.
6. STANDARD DOCUMENTS				
6.1 NON-COLLUSIVE AFFIDAVIT	Submitted	Submitted blank form, however re-submitted completed form once notified by the Procurement Department.	Submitted	Submitted
6.2 SWORN STATEMENT ON PUBLIC	Submitted stating: A) Neither the entity submitting this sworn statement, nor any	Submitted blank form, however re-submitted completed form once notified by the	Submitted, however no options were originally selected. The Procurement Department reached out to the vendor to clarify and they submitted an	Submitted stating: A) Neither the entity submitting this sworn statement, nor any
ENTITY CRIMES FORM	officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been	Procurement Department stating: A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees,	updated form stating: A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity	officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been
	charged with and convicted of a public entity crime subsequent to July 1, 1989.	members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to	crime subsequent to July 1, 1989.	charged with and convicted of a public entity crime subsequent to July 1, 1989.
6.3 EQUAL BENEFITS CERTIFICATION FORM	Submitted stating: A) Contractor currently complies	Submitted blank form, however re-submitted completed form	Submitted, however vendor selected two options, A & B:	Submitted stating: A) Contractor currently complies
		once notified by the Procurement Department stating:  A) Contractor currently complies	A) Contractor currently complies B) Contractor will comply at the time of contract award.	
6.4 VENDOR DRUG FREE WORKPLACE	Submitted stating: Complies fully	Submitted blank form, however re-submitted completed form	Submitted stating: Complies fully	Submitted stating: Complies fully
CERTIFICATION		once notified by the Procurement Department stating: Complies fully		
6.5 SCRUTINIZED COMPANY CERTIFICATION	Submitted	Submitted blank form, however re-submitted completed form once notified by the Procurement Department.	Submitted	Submitted
6.6 E-VERIFY SYSTEM CERTIFICATION	Submitted	Submitted blank form, however re-submitted completed form once notified by the Procurement Department.	Submitted	Submitted
6.7 HUMAN TRAFFICKING AFFIDAVIT	Submitted	Submitted blank form, however re-submitted completed form once notified by the Procurement Department.	Submitted.	Submitted
6.8 VENDOR INFORMATION FORM	Submitted	Submitted blank form, however re-submitted completed form once notified by the Procurement Department.	Submitted	Submitted. Also, submitted City of Port Saint Lucie Business  Tax Receipt
6.9 FORM W-9 (REVISED MARCH 2024)	Submitted	Submitted	Submitted. Also, submitted State of Ohio Organization Business Registration Documents.	Submitted
7. OPTIONAL DOCUMENTATION				
7.1 TRADE SECRETS			Stated "Question is not applicable."	
7.2 FINANCIAL STATEMENTS			Sated "Financial records will be provided upon post-bid request."	
7.2 FINANCIAL STATEMENTS 7.3 ALTERNATIVES			Sated "Financial records will be provided upon post-bid request."  Stated "Question is not applicable."	
7.2 FINANCIAL STATEMENTS	Letter from Cisco stating that they are an authorized Cisco Gold Integrator and the designation was valid until October 23, 2024.	Provided a Proposal Package that included a letter, a section about Leadership, W&MBE Certification from the State of Florida, Commission	Sated "Financial records will be provided upon post-bid request."  Stated "Question is not applicable."  Stated "Bid Table addendum - 1. Shipping is not included in your quote but can be estimated at \$4,030.19. 2. Required parts	
7.2 FINANCIAL STATEMENTS 7.3 ALTERNATIVES	Letter from Cisco stating that they are an authorized Cisco Gold Integrator and the designation was valid until October 23, 2024.	Provided a Proposal Package that included a letter, a section about Leadership, W&MBE Certification from the State of Florida, Commission Registration System (CORES), COI, E-Rate Service Provider's Agreement, a formal quote, References, Product Documents and Specifications	Sated "Financial records will be provided upon post-bid request."  Stated "Question is not applicable."	
7.2 FINANCIAL STATEMENTS 7.3 ALTERNATIVES		Leadership, W&MBE Certification from the State of Florida, Commission Registration System (CORES), COI, E-Rate Service Provider's Agreement, a	Sated "Financial records will be provided upon post-bid request."  Stated "Question is not applicable."  Stated "Bid Table addendum - 1. Shipping is not included in your quote but can be estimated at \$4,030.19. 2. Required parts not listed on the Bid Table are included in the attached ETI quote." (The price in their bid stated \$833,192.71, however the	
7.2 FINANCIAL STATEMENTS 7.3 ALTERNATIVES		Leadership, W&MBE Certification from the State of Florida, Commission Registration System (CORES), COI, E-Rate Service Provider's Agreement, a	Sated "Financial records will be provided upon post-bid request."  Stated "Question is not applicable."  Stated "Bid Table addendum - 1. Shipping is not included in your quote but can be estimated at \$4,030.19. 2. Required parts not listed on the Bid Table are included in the attached ETI quote." (The price in their bid stated \$833,192.71, however the	
7.2 FINANCIAL STATEMENTS 7.3 ALTERNATIVES 7.4 ADDITIONAL INFORMATION		Leadership, W&MBE Certification from the State of Florida, Commission Registration System (CORES), COI, E-Rate Service Provider's Agreement, a formal quote, References, Product Documents and Specifications	Sated "Financial records will be provided upon post-bid request."  Stated "Question is not applicable."  Stated "Bid Table addendum - 1. Shipping is not included in your quote but can be estimated at \$4,030.19, 2. Required parts not listed on the Bid Table are included in the attached ETI quote." (The price in their bid stated \$833,192.71, however the included quote stated \$837,222.58)	
7.2 FINANCIAL STATEMENTS 7.3 ALTERNATIVES 7.4 ADDITIONAL INFORMATION 7.5 PROFESSIONAL LICENSES		Leadership, W&MBE Certification from the State of Florida, Commission Registration System (CORES), COI, E-Rate Service Provider's Agreement, a formal quote, References, Product Documents and Specifications	Sated "Financial records will be provided upon post-bid request."  Stated "Question is not applicable."  Stated "Bid Table addendum - 1. Shipping is not included in your quote but can be estimated at \$4,030.19, 2. Required parts not listed on the Bid Table are included in the attached ETI quote." (The price in their bid stated \$833,192.71, however the included quote stated \$837,222.58)	
7.2 FINANCIAL STATEMENTS 7.3 ALTERNATIVES 7.4 ADDITIONAL INFORMATION 7.5 PROFESSIONAL LICENSES 8. VENDOR CLASSIFICATION	Integrator and the designation was valid until October 23, 2024.	Leadership, W&MBE Certification from the State of Florida, Commission Registration System (CORES), COI, E-Rate Service Provider's Agreement, a formal quote, References, Product Documents and Specifications  Submitted Technical Certifications List	Sated "Financial records will be provided upon post-bid request."  Stated "Question is not applicable."  Stated "Bid Table addendum - 1. Shipping is not included in your quote but can be estimated at \$4,030.19, 2. Required parts not listed on the Bid Table are included in the attached ETI quote." (The price in their bid stated \$833,192.71, however the included quote stated \$837,222.58)	No No
7.2 FINANCIAL STATEMENTS 7.3 ALTERNATIVES 7.4 ADDITIONAL INFORMATION 7.5 PROFESSIONAL LICENSES		Leadership, W&MBE Certification from the State of Florida, Commission Registration System (CORES), COI, E-Rate Service Provider's Agreement, a formal quote, References, Product Documents and Specifications	Sated "Financial records will be provided upon post-bid request."  Stated "Question is not applicable."  Stated "Bid Table addendum - 1. Shipping is not included in your quote but can be estimated at \$4,030.19. 2. Required parts not listed on the Bid Table are included in the attached ETI quote." (The price in their bid stated \$833,192.71, however the included quote stated \$837,222.58)  Stated "Question is not applicable."	No
7.2 FINANCIAL STATEMENTS 7.3 ALTERNATIVES 7.4 ADDITIONAL INFORMATION 7.5 PROFESSIONAL LICENSES 8. VENDOR CLASSIFICATION 8.1 Is your firm a Veteran Owned Small Business (VOSB)? 8.2 Is your firm a Minority-Owned Business	Integrator and the designation was valid until October 23, 2024.	Leadership, W&MBE Certification from the State of Florida, Commission Registration System (CORES), COI, E-Rate Service Provider's Agreement, a formal quote, References, Product Documents and Specifications  Submitted Technical Certifications List	Sated "Financial records will be provided upon post-bid request."  Stated "Question is not applicable."  Stated "Bid Table addendum - 1. Shipping is not included in your quote but can be estimated at \$4,030.19. 2. Required parts not listed on the Bid Table are included in the attached ETI quote." (The price in their bid stated \$833,192.71, however the included quote stated \$837,222.58)  Stated "Question is not applicable."  Stated "Question is not applicable."  Yes, the vendor submitted a letter from the Department of Veterans Affairs (VA) that expired 11/23/2024, however they also provided a screen shot of their renewed certification which is valid through 11/23/2026. The screen shot did not clearly identify the authorizing organization but did have a reference to the U.S. Small Business Administration. The Procurement Department was able to everify the validity of the Certification but did have a reference to the cuts for all the Small Business Administration. The Procurement Department was able to everify the validity of the Certification but did have a reference to the cuts for all the Small Business Administration. The Procurement Department was able to everify the validity of the Certification but U.S. small	No No
7.2 FINANCIAL STATEMENTS 7.3 ALTERNATIVES 7.4 ADDITIONAL INFORMATION 7.5 PROFESSIONAL LICENSES 8. VENDOR CLASSIFICATION 8.1 Is your firm a Veteran Owned Small Business (VOSB)? 8.2 Is your firm a Minority-Owned Business Enterprise (MBE)? 8.3 Is your firm a Woman-Owned Business	Integrator and the designation was valid until October 23, 2024.  No  Stated: Yes, Asian-American MBE. Submitted Southern California	Leadership, W&MBE Certification from the State of Florida, Commission Registration System (CORES), COI, E-Rate Service Provider's Agreement, a formal quote, References, Product Documents and Specifications  Submitted Technical Certifications List  No  Stated: Yes, African-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on July 23, 2026.  Stated: Yes. Submitted State of Florida Woman & Minority	Sated "Financial records will be provided upon post-bid request."  Stated "Question is not applicable."  Stated "Bid Table addendum - 1. Shipping is not included in your quote but can be estimated at \$4,030.19. 2. Required parts not listed on the Bid Table are included in the attached ETI quote." (The price in their bid stated \$833,192.71, however the included quote stated \$837,222.58)  Stated "Question is not applicable."  Stated "Question is not applicable."  Yes, the vendor submitted a letter from the Department of Veterans Affairs (VA) that expired 1/23/2024, however they also provided a screen shot of their renewed certification which is valid through 11/23/2026. The screen dot did not clearly identify the authorizing organization but did have a reference to the U.S. Small Business Administration. The Procurement Department was able to verify the validity of the Certification at U.S. Small Business Administration website https://veterans.certify.ba.gov/ .  Stated: Yes, African-American MBE. Submitted Ohio Department of Development Minority Business Enterprise Certification	
7.2 FINANCIAL STATEMENTS 7.3 ALTERNATIVES 7.4 ADDITIONAL INFORMATION 7.5 PROFESSIONAL LICENSES 8. VENDOR CLASSIFICATION 8.1 Is your firm a Veteran Owned Small Business (VOSB)? 8.2 Is your firm a Minority-Owned Business Enterprise (MBE)?	No  Stated: Yes, Asian-American MBE. Submitted Southern California Minority Supplier Development Council Certification which expired on Sept. 1, 2024.	Leadership, W&MBE Certification from the State of Florida, Commission Registration System (CR0ES), CDL. Faste Service Provider's Agreement, a formal quote, References, Product Documents and Specifications  Submitted Technical Certifications List  No  No  Stated: Yes, African-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on July 23, 2026.	Sated "Financial records will be provided upon post-bid request."  Stated "Question is not applicable."  Stated "Bid Table addendum - 1. Shipping is not included in your quote but can be estimated at \$4,030.19. 2. Required parts not listed on the Bid Table are included in the attached ETI quote." (The price in their bid stated \$833,192.71, however the included quote stated \$837,222.59)  Stated "Question is not applicable."  Stated "Question is not applicable."  Yes, the vendor submitted a letter from the Department of Veterans Affairs (VA) that expired 11/23/2024, however they also provided a screen shot of their renewed certification which is valid through 11/23/2026. The screen shot did not clearly identify the authorizing organization but did have a reference to the U.S. Small Business Administration website History. Veterans certify, thas gov/.  Stated: Yes, African-American MBE. Submitted Ohio Department of Development Minority Business Enterprise Certification Letter which expired on February 22, 2025.	No
7.2 FINANCIAL STATEMENTS 7.3 ALTERNATIVES 7.4 ADDITIONAL INFORMATION 7.5 PROFESSIONAL LICENSES 8. VENDOR CLASSIFICATION 8.1 Is your firm a Veteran Owned Small Business (VOSB)? 8.2 Is your firm a Minority-Owned Business Enterprise (MBE)? 8.3 Is your firm a Woman-Owned Business Enterprise (WBE)?	No  Stated: Yes, Asian-American MBE. Submitted Southern California Minority Supplier Development Council Certification which expired on Sept. 1, 2024. No	Leadership, W&MBE Certification from the State of Florida, Commission Registration System (CORES), COI, E-Rate Service Provider's Agreement, a formal quote, References, Product Documents and Specifications  Submitted Technical Certifications List  No  Stated: Yes, African-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on July 23, 2026.  Stated: Yes, Submitted State of Florida Woman & Minority Business Certification which expires on July 23, 2026.	Sated "Financial records will be provided upon post-bid request."  Stated "Question is not applicable."  Stated "Bid Table addendum - 1. Shipping is not included in your quote but can be estimated at \$4,030.19. 2. Required parts not listed on the Bid Table are included in the attached ETI quote." (The price in their bid stated \$833,192.71, however the included quote stated \$837,222.58)  Stated "Question is not applicable."  Stated "Question is not applicable."  Yes, the vendor submitted a letter from the Department of Veterans Affairs (VA) that expired 11/23/2024, however they also provided a screen shot of their renewed certification which is valid through 11/23/2026. The screen shot did not clearly identify the authorizing organization but did have a reference to the U.S. Small Business Administration. The Procurement Department was able to verify the validity of the Certification at U.S. Small Business Administration website https://veterans.certify.sba.gov/.  Stated: Yes, African-American MBE. Submitted Ohio Department of Development Minority Business Enterprise Certification Letter which expired on February 22, 2025.	No No
7.2 FINANCIAL STATEMENTS 7.3 ALTERNATIVES 7.4 ADDITIONAL INFORMATION 7.5 PROFESSIONAL LICENSES 8. VENDOR CLASSIFICATION 8.1 Is your firm a Veteran Owned Small Business (VOSB)? 8.2 Is your firm a Minority-Owned Business Enterprise (MBE)? 8.3 Is your firm a Woman-Owned Business Enterprise (MBE)? 8.4 Is your firm a HubZone Business / Labor Surplus Area Firm? 8.5 Is your firm a Broward County Small Business Enterprise (SBE)?	No  Stated: Yes, Asian-American MBE. Submitted Southern California Minority Supplier Development Council Certification which expired on Sept. 1, 2024.  No  No	Leadership, W&MBE Certification from the State of Florida, Commission Registration System (CORES), COI, E-Rate Service Provider's Agreement, a formal quote, References, Product Documents and Specifications  Submitted Technical Certifications List  No  Stated: Yes, African-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on July 23, 2026.  Stated: Yes. Submitted State of Florida Woman & Minority Business Certification which expires on July 23, 2026.  No	Sated "Financial records will be provided upon post-bid request."  Stated "Question is not applicable."  Stated "Bid Table addendum - 1. Shipping is not included in your quote but can be estimated at \$4,030.19. 2. Required parts not listed on the Bid Table are included in the attached ETI quote." (The price in their bid stated \$833,192.71, however the included quote stated \$837,222.58)  Stated "Question is not applicable."  Stated "Question is not applicable."  Yes, the vendor submitted a letter from the Department of Veterans Affairs (VA) that expired 11/23/2024, however they also provided a screen shot of their renewed certification which is valid through 11/23/2026. The screen shot did not clearly identify the authorizing organization but did have a reference to the US. Small Business Administration website https://veterans.certify.das.gov/ .  Stated: Yes, African-American MBE. Submitted Ohio Department of Development Minority Business Enterprise Certification Letter which expired on February 22, 2025.  No	No No No
7.2 FINANCIAL STATEMENTS 7.3 ALTERNATIVES 7.4 ADDITIONAL INFORMATION 7.5 PROFESSIONAL LICENSES 8. VENDOR CLASSIFICATION 8.1 Is your firm a Veteran Owned Small Business (VOSB)? 8.2 Is your firm a Minority-Owned Business Enterprise (MBE)? 8.3 Is your firm a Woman-Owned Business Enterprise (WBE)? 8.4 Is your firm a HubZone Business / Labor Surplus Area Firm? 8.5 Is your firm a Broward County Small Business Enterprise (SBE)? 8.6 Is your firm a Broward County Business Enterprise (CBE)?	No  Stated: Yes, Asian-American MBE. Submitted Southern California Minority Supplier Development Council Certification which expired on Sept. J. 2024.  No  No  No  No	Leadership, W&MBE Certification from the State of Florida, Commission Registration System (CR0ES), CDL. Faste Service Provider's Agreement, a formal quote, References, Product Documents and Specifications  Submitted Technical Certifications List  No  Stated: Yes, African-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on July 23, 2026.  Stated: Yes. Submitted State of Florida Woman & Minority Business Certification which expires on July 23, 2026.  No  No	Sated "Financial records will be provided upon post-bid request."  Stated "Question is not applicable."  Stated "Bid Table addendum - 1. Shipping is not included in your quote but can be estimated at \$4,030.19. 2. Required parts not listed on the Bid Table are included in the attached ETI quote." (The price in their bid stated \$833,192.71, however the included quote stated \$837,222.58)  Stated "Question is not applicable."  Stated "Question is not applicable."  Yes, the vendor submitted a letter from the Department of Veterans Affairs (VA) that expired 11/23/2024, however they also provided a screen shot of their renewed certification which is valid through 11/23/2026. The screen shot did not clearly identify the authorizing organization but did have a reference to the U.S. Small Business Administration. The Procurement Department was able to verify the validity of the Certification at U.S. Small Business Administration website https://veterans.certify.sba.gov/.  Stated: Yes, African-American MBE. Submitted Ohio Department of Development Minority Business Enterprise Certification Letter which expired on February 22, 2025.  No  No  No	No No No No
7.2 FINANCIAL STATEMENTS 7.3 ALTERNATIVES 7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  3. VENDOR CLASSIFICATION 8.1 Is your firm a Veteran Owned Small Business (VOSB)?  8.2 Is your firm a Winority-Owned Business Enterprise (MBE)? 8.3 Is your firm a Woman-Owned Business Enterprise (WBE)? 8.4 Is your firm a HubZone Business / Labor Surplus Area Firm? 8.5 Is your firm a Broward County Small Business Enterprise (SBE)?	No  No  Stated: Yes, Asian-American MBE. Submitted Southern California Minority Supplier Development Council Certification which expired on Sept. 1, 2024.  No  No  No	Leadership, W&MBE Certification from the State of Florida, Commission Registration System (CORES), COI, E-Rate Service Provider's Agreement, a formal quote, References, Product Documents and Specifications  Submitted Technical Certifications List  No  No  Stated: Yes, African-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on July 23, 2026.  Stated: Yes, Submitted State of Florida Woman & Minority Business Certification which expires on July 23, 2026.  No	Sated "Financial records will be provided upon post-bid request."  Stated "Question is not applicable."  Stated "Bid Table addendum - 1. Shipping is not included in your quote but can be estimated at \$4,030.19. 2. Required parts not listed on the Bid Table are included in the attached ETI quote." (The price in their bid stated \$833,192.71, however the included quote stated \$837,222.58)  Stated "Question is not applicable."  Stated "Question is not applicable."  Yes, the vendor submitted a letter from the Department of Veterans Affairs (VA) that expired 11/23/2024, however they also provided a screen shot of their renewed certification which is valid through 11/23/2026. The screen shot did not clearly identify the authorizing organization but did have a reference to the U.S. Small Business Administration website https://veterans.certify.sba.gov/ .  Stated: Yes, African-American MBE. Submitted Ohio Department was able to verify the validity of the Certification Letter which expired on February 22, 2025.  No  No  No  No  Stated: Yes, Submitted a screenshot of an e-mail from Broward County on January 14, 2025, in which the County thanked them for submitting the documents and stated that they will inform them if additional	No No No
7.2 FINANCIAL STATEMENTS 7.3 ALTERNATIVES 7.4 ADDITIONAL INFORMATION 7.5 PROFESSIONAL LICENSES 8. VENDOR CLASSIFICATION 8.1 Is your firm a Veteran Owned Small Business (VOSB)? 8.2 Is your firm a Minority-Owned Business Enterprise (MBE)? 8.3 Is your firm a Woman-Owned Business Enterprise (MBE)? 8.4 Is your firm a HubZone Business / Labor Surplus Area Firm? 8.5 Is your firm a Broward County Small Business Enterprise (CBE)? 8.6 Is your firm a Broward County Business Enterprise (CBE)? 8.7 Is your firm a Broward County Disadvantaged Business Enterprise (DBE)? 8.8 Does your firm have a Vendor	No  Stated: Yes, Asian-American MBE. Submitted Southern California Minority Supplier Development Council Certification which expired on Sept. J. 2024.  No  No  No  No	Leadership, W&MBE Certification from the State of Florida, Commission Registration System (CR0ES), CDL. Faste Service Provider's Agreement, a formal quote, References, Product Documents and Specifications  Submitted Technical Certifications List  No  Stated: Yes, African-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on July 23, 2026.  Stated: Yes. Submitted State of Florida Woman & Minority Business Certification which expires on July 23, 2026.  No  No	Sated "Financial records will be provided upon post-bid request."  Stated "Question is not applicable."  Stated "Bid Table addendum - 1. Shipping is not included in your quote but can be estimated at \$4,030.19. 2. Required parts not listed on the Bid Table are included in the attached ETI quote." (The price in their bid stated \$833,192.71, however the included quote stated \$837,222.58)  Stated "Question is not applicable."  Stated "Question is not applicable."  Ves, the vendor submitted a letter from the Department of Veterans. Affairs (VA) that expired 11/23/2024, however they also provided a screen shot of their renewed certification which is valid through 11/23/2026. The screen shot did not clearly identify the authorizing organization but did have a reference to the U.S. Small Business Administration. The Procurement Department was able to entity the subdicts of the Certification at U.S. Small Business Administration website https://veterans.certify.bab.gov/.  Stated: Yes, African-American MBE. Submitted Ohio Department of Development Minority Business Enterprise Certification Letter which expired on February 22, 2025.  No  No  No  Stated: Yes. Submitted a screenshot of an e-mail from Broward County on January 14, 2025, in which the	No No No No No
7.2 FINANCIAL STATEMENTS 7.3 ALTERNATIVES 7.4 ADDITIONAL INFORMATION 7.5 PROFESSIONAL LICENSES 8. VENDOR CLASSIFICATION 8.1 Is your firm a Veteran Owned Small Business (VOSB)? 8.2 Is your firm a Minority-Owned Business Enterprise (MBE)? 8.3 Is your firm a Woman-Owned Business Enterprise (MBE)? 8.4 Is your firm a HubZone Business / Labor Surplus Area Firm? 8.5 Is your firm a Broward County Small Business Enterprise (SBE)? 8.6 Is your firm a Broward County Business Enterprise (CBE)? 8.7 Is your firm a Broward County Disadvantaged Business Enterprise (DBE)? 8.8 Does your firm have a Vendor Classification that was not listed above?	No  Stated: Yes, Asian-American MBE. Submitted Southern California Minority Supplier Development Council Certification which expired on Sept. J. 2024.  No  No  No  No  No	Leadership, W&MBE Certification from the State of Florida, Commission Registration System (CR0ES), CDL. Faste Service Provider's Agreement, a formal quote, References, Product Documents and Specifications  Submitted Technical Certifications List  No  Stated: Yes, African-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on July 23, 2026.  Stated: Yes. Submitted State of Florida Woman & Minority Business Certification which expires on July 23, 2026.  No  No  No  No	Sated "Financial records will be provided upon post-bid request."  Stated "Question is not applicable."  Stated "Bid Table addendum - 1. Shipping is not included in your quote but can be estimated at \$4,030.19. 2. Required parts not listed on the Bid Table are included in the attached ETI quote." (The price in their bid stated \$833,192.71, however the included quote stated \$837,222.58)  Stated "Question is not applicable."  Stated "Question is not applicable."  Stated "Question is not applicable."  Yes, the vendor submitted a letter from the Department of Veterans Affairs (VA) that expired 11/23/2024, however they also provided a screen shot of their renewed certification which is valid through 11/23/2026. The screen shot did not clearly identify the authorizing organization but did have a reference to the U.S. Small Business Administration websle they://veterans.er/it/sha.gov/.  Stated: Yes, African-American MBE. Submitted Ohio Department of Development Minority Business Enterprise Certification Letter which expired on February 22, 2025.  No  No  No  No  Stated: Yes, Submitted a screenshot of an e-mail from Broward County on January 14, 2025, in which the County thanked them for submitting the documents and stated that they will inform them if additional documents are needed.	No No No No No No
7.2 FINANCIAL STATEMENTS 7.3 ALTERNATIVES 7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION 8.1 Is your firm a Veteran Owned Small Business (VOSB)?  8.2 Is your firm a Winority-Owned Business Enterprise (MBE)? 8.3 Is your firm a Woman-Owned Business Enterprise (MBE)? 8.4 Is your firm a HubZone Business / Labor Surplus Area Firm? 8.5 Is your firm a Broward County Small Business Enterprise (CBE)? 8.6 Is your firm a Broward County Business Enterprise (CBE)? 8.7 Is your firm a Broward County Disadvantaged Business Enterprise (DBE)? 8.8 Does your firm have a Vendor Classification that was not listed above?  9. FEDERAL DOCUMENTS	No  No  Stated: Yes, Asian-American MBE. Submitted Southern California Minority Supplier Development Council Certification which expired on Sept. 1, 2024.  No  No  No  No  No  No  No  No	Leadership, W&MBE Certification from the State of Florida, Commission Registration System (CORES), COI, E-Rate Service Provider's Agreement, a formal quote, References, Product Documents and Specifications  Submitted Technical Certifications List  No  No  Stated: Yes, African-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on July 23, 2026.  Stated: Yes. Submitted State of Florida Woman & Minority Business Certification which expires on July 23, 2026.  No  No  No  No  No  No	Sated "Financial records will be provided upon post-bid request."  Stated "Question is not applicable."  Stated "Bid Table addendum - 1. Shipping is not included in your quote but can be estimated at \$4,030.19. 2. Required parts not listed on the Bid Table are included in the attached ETI quote." (The price in their bid stated \$833,192.71, however the included quote stated \$837,222.58)  Stated "Question is not applicable."  Yes, the vendor submitted a letter from the Department of Veterans Affairs (VA) that expired 11/23/2024, however they also provided a screen shot of their enewed certification which is valid through 11/23/2026. The screen shot did not clearly identify the authorizing organization but did have a reference to the U.S. small Business Administration website https://veterans.certify.abs.gov/.  Stated: Yes, African-American MBE. Submitted Ohio Department of Development Minority Business Enterprise Certification Letter which expired on February 22, 2025.  No  No  No  No  Stated: Yes. Submitted a screenshot of an e-mail from Broward County on January 14, 2025, in which the County thanked them for submitting the documents and stated that they will inform them if additional documents are needed.  No	No
7.2 FINANCIAL STATEMENTS 7.3 ALTERNATIVES 7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION 8.1 Is your firm a Veteran Owned Small Business (VOSB)?  8.2 Is your firm a Winority-Owned Business Enterprise (MBE)? 8.3 Is your firm a Woman-Owned Business Enterprise (WBE)? 8.4 Is your firm a HubZone Business / Labor Surplus Area Firm? 8.5 Is your firm a Broward County Small Business Enterprise (CBE)? 8.7 Is your firm a Broward County Business Enterprise (CBE)? 8.7 Is your firm a Broward County Disadvantaged Business Enterprise (DBE)? 8.8 Does your firm have a Vendor Classification that was not listed above?  9. FEDERAL DOCUMENTS 9.1 Certification Regarding Lobbying: Debarment,	No  Stated: Yes, Asian-American MBE. Submitted Southern California Minority Supplier Development Council Certification which expired on Sept. J. 2024.  No  No  No  No  No	Leadership, W&MBE Certification from the State of Florida, Commission Registration System (CR0ES), CDL. Faste Service Provider's Agreement, a formal quote, References, Product Documents and Specifications  Submitted Technical Certifications List  No  Stated: Yes, African-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on July 23, 2026.  Stated: Yes. Submitted State of Florida Woman & Minority Business Certification which expires on July 23, 2026.  No  No  No  No	Sated "Financial records will be provided upon post-bid request."  Stated "Question is not applicable."  Stated "Bid Table addendum - 1. Shipping is not included in your quote but can be estimated at \$4,030.19. 2. Required parts not listed on the Bid Table are included in the attached ETI quote." (The price in their bid stated \$833,192.71, however the included quote stated \$837,222.58)  Stated "Question is not applicable."  Stated "Question is not applicable."  Stated "Question is not applicable."  Yes, the vendor submitted a letter from the Department of Veterans Affairs (VA) that expired 11/23/2024, however they also provided a screen shot of their renewed certification which is valid through 11/23/2026. The screen shot did not clearly identify the authorizing organization but did have a reference to the U.S. Small Business Administration websle they://veterans.er/it/sha.gov/.  Stated: Yes, African-American MBE. Submitted Ohio Department of Development Minority Business Enterprise Certification Letter which expired on February 22, 2025.  No  No  No  No  Stated: Yes, Submitted a screenshot of an e-mail from Broward County on January 14, 2025, in which the County thanked them for submitting the documents and stated that they will inform them if additional documents are needed.	No No No No No No
7.2 FINANCIAL STATEMENTS 7.3 ALTERNATIVES 7.4 ADDITIONAL INFORMATION 7.5 PROFESSIONAL LICENSES 8. VENDOR CLASSIFICATION 8.1 Is your firm a Veteran Owned Small Business (VOSB)? 8.2 Is your firm a Minority-Owned Business Enterprise (MBE)? 8.3 Is your firm a Woman-Owned Business Enterprise (MBE)? 8.4 Is your firm a HubZone Business / Labor Surplus Area Firm? 8.5 Is your firm a Broward County Small Business Enterprise (CBE)? 8.6 Is your firm a Broward County Business Enterprise (CBE)? 8.7 Is your firm a Broward County Disadvantaged Business Enterprise (DBE)? 8.8 Does your firm have a Vendor Classification that was not listed above? 9. FEDERAL DOCUMENTS	No  No  Stated: Yes, Asian-American MBE. Submitted Southern California Minority Supplier Development Council Certification which expired on Sept. 1, 2024.  No  No  No  No  No  No  No  No	Leadership, W&MBE Certification from the State of Florida, Commission Registration System (CORES), COI, E-Rate Service Provider's Agreement, a formal quote, References, Product Documents and Specifications  Submitted Technical Certifications List  No  No  Stated: Yes, African-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on July 23, 2026.  Stated: Yes. Submitted State of Florida Woman & Minority Business Certification which expires on July 23, 2026.  No  No  No  No  No  No	Sated "Financial records will be provided upon post-bid request."  Stated "Question is not applicable."  Stated "Bid Table addendum - 1. Shipping is not included in your quote but can be estimated at \$4,030.19. 2. Required parts not listed on the Bid Table are included in the attached ETI quote." (The price in their bid stated \$833,192.71, however the included quote stated \$837,222.58)  Stated "Question is not applicable."  Yes, the vendor submitted a letter from the Department of Veterans Affairs (VA) that expired 11/23/2024, however they also provided a screen shot of their enewed certification which is valid through 11/23/2026. The screen shot did not clearly identify the authorizing organization but did have a reference to the U.S. small Business Administration website https://veterans.certify.abs.gov/.  Stated: Yes, African-American MBE. Submitted Ohio Department of Development Minority Business Enterprise Certification Letter which expired on February 22, 2025.  No  No  No  No  Stated: Yes. Submitted a screenshot of an e-mail from Broward County on January 14, 2025, in which the County thanked them for submitting the documents and stated that they will inform them if additional documents are needed.  No	No

Question	Howard Technology Solutions	MIAMI BUSINESS TELEPHONE CORP	Pawol Tafya, LLC	Questivity
1. CONFIRMATION TO BIND	Confirmed	Confirmed	Confirmed	Confirmed
2. EXPERIENCE AND CAPABILITIES	Submitted	Submitted	Submitted	Submitted
3. FIRM'S UNDERSTANDING AND APPROACH TO THE WORK	Submitted	Submitted	Submitted	Submitted
4. PREVIOUS EXPERIENCE	Submitted	Submitted	Submitted	Submitted
5. PROJECT DOCUMENTS				
5.1 PROPOSERS BACKGROUND INFORMATION FORM	Submitted	Submitted	Submitted	Submitted
5.2 E-RATE CERTIFICATION FORM	Submitted SPIN 143022153 is active on USAC website.	Submitted SPIN 143018421 is active on USAC website.	Submitted, however left "Respondent's SPIN" and "Date of last certification" blank. We could not find a valid SPIN on the USAC website for this company.  Vendor stated "My team spoke with USAC and they're currently working on setting up our SPIN. We're told that the ETA is to complete this is 2 to 3 business days. So, we should have it for your by early next week or so. In hope this helps."	
6. STANDARD DOCUMENTS				
6.1 NON-COLLUSIVE AFFIDAVIT	Submitted	Submitted	Submitted	Submitted
6.2 SWORN STATEMENT ON PUBLIC ENTITY CRIMES FORM	Submitted stating: A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	Submitted stating: A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	Submitted stating: A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	Submitted stating: A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.
6.3 EQUAL BENEFITS CERTIFICATION FORM	Submitted stating: A) Contractor currently complies	Submitted stating: A) Contractor currently complies	Submitted stating: A) Contractor currently complies	Submitted stating: A) Contractor currently complies
6.4 VENDOR DRUG FREE WORKPLACE	Submitted blank form, however re-submitted completed form	Submitted stating: Complies fully	Submitted stating: Complies fully	Submitted stating: Complies fully
CERTIFICATION	once notified by the Procurement Department stating:  Complies fully	Submittee stating, complete rany	Submittee stating, complies rany	Submitted stating, compiles rany
6.5 SCRUTINIZED COMPANY CERTIFICATION	Submitted	Submitted	Submitted	Submitted
6.6 E-VERIFY SYSTEM CERTIFICATION	Submitted	Submitted	Submitted	Submitted
6.7 HUMAN TRAFFICKING AFFIDAVIT	Submitted	Submitted	Submitted	Submitted
6.8 VENDOR INFORMATION FORM	Submitted. Also, submitted Sunbiz Detail by Entity Name for Howard Industries, Inc.	Submitted. Also, submitted 2025 Florida Profit Corporation Annual Report	Submitted	Submitted
6.9 FORM W-9 (REVISED MARCH 2024)	Submitted	Submitted	Submitted	Submitted
7. OPTIONAL DOCUMENTATION				
7.1 TRADE SECRETS		Submitted an Executive Summary and Company Background document		
7.2 FINANCIAL STATEMENTS		Submitted a List of Credit / Trade References		
7.3 ALTERNATIVES		Submitted Broward County Local Business Tax Receipt for 2024 25		
7.4 ADDITIONAL INFORMATION	Provided a Proposal Package that included a letter of transmittal, executive summary, price proposal, submital documents section, proof of erate participation, letter from Cisco stating that they are an authorized Cisco Premier Integrator and the designation is valid until February 1, 2026, Service Providers SPIN and FRN (FCC Registration Number).	Submitted a Project List / Experience History along with the a List of Credit / Trade References again		Submitted a formal quote, a certificate from Cisco stating that they are a Premier Certified Partner, a printout with their SPIN and related information, and Commission Registration System (CORES).
7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION		Submitted State of Florida Department of Business and Professional Regulation Certification for Nestor Collantes of Miami Business Telephone, Corp. as a limited energy systems specialist with an license expiration date of August 31, 2026 along with the Broward County Local Business Tax Receipt for 2024-25 again.		
8.1 Is your firm a Veteran Owned Small Business (VOSB)?	No	No	Yes, the vendor submitted a letter from the U.S. Small Business Administration confirming the vendor has been certified by the Veteran Small Business Certification Program (Veteral at S&AL in addition, we confirmed on the S&A website that the firm is a Certified Service Disabled Veteran Owned Small Business through February 28, 2027	No
8.2 Is your firm a Minority-Owned Business Enterprise (MBE)?	No	No	Stated: Yes, African-American MBE. Submitted State of Florida Minority & Veteran Business Certification which expires on October 15, 2026.	Stated: Yes, Asian-American MBE. Submitted Western Regional Minority Supplier Development Council Certification which expired on July 31, 2024.
8.3 Is your firm a Woman-Owned Business Enterprise (WBE)?	No	No	No	No
8.4 Is your firm a HubZone Business / Labor Surplus Area Firm?	No	No	No	No
8.5 Is your firm a Broward County Small Business Enterprise (SBE)?	No	No	No	No
8.6 Is your firm a Broward County Business Enterprise (CBE)?	No	No	No	No
8.7 Is your firm a Broward County Disadvantaged Business Enterprise (DBE)?	No	No	No	No
8.8 Does your firm have a Vendor Classification that was not listed above?	No	No	No	Submitted Small Business Certification, from the California Department of General Services, which expires on April 30, 2026.
9. FEDERAL DOCUMENTS				
9.1 Certification Regarding Lobbying; Debarment, Suspension and Other Responsibility Matters for Expenditure of Federal Funds	Submitted	Submitted	Submitted	Submitted blank form, however re-submitted completed form once notified by the Procurement Department.

Question	Verity Partners Inc	PC Solutions & Integration, Inc.
1 CONFIDMATION TO BIND		
1. CONFIRMATION TO BIND	Confirmed	Confirmed
2. EXPERIENCE AND CAPABILITIES	Submitted	Submitted and stated "PCS has included supporting
3. FIRM'S UNDERSTANDING AND	Submitted	documentation for this."  Submitted and stated "PCS has included supporting
APPROACH TO THE WORK  4. PREVIOUS EXPERIENCE	Submitted	documentation for this."  Submitted and stated "PCS has included supporting
5. PROJECT DOCUMENTS		documentation for this."
	Culturalista d	Culturitated
5.1 PROPOSERS BACKGROUND	Submitted	Submitted
INFORMATION FORM		
5.2 E-RATE CERTIFICATION FORM	Submitted, however SPIN is listed as 00034931481, which is not normal format of SPIN. SPIN not valid on USAC website.	Submitted SPIN 143035405 is active on USAC website.
6. STANDARD DOCUMENTS		
6.1 NON-COLLUSIVE AFFIDAVIT	Submitted	Submitted
6.2 SWORN STATEMENT ON PUBLIC	Submitted stating: A) Neither the entity submitting this sworn statement, nor any	Submitted stating: A) Neither the entity submitting this sworn statement, nor any officers,
ENTITY CRIMES FORM	officers, directors, executives, partners, shareholders, employees, members, or agents	directors, executives, partners, shareholders, employees, members, or agents who are
ENTITY CRIMES FORM	who are active in management of the entity, nor any affiliate of the entity have been	active in management of the entity, nor any affiliate of the entity have been charged with
	charged with and convicted of a public entity crime subsequent to July 1, 1989.	and convicted of a public entity crime subsequent to July 1, 1989.
6.3 EQUAL BENEFITS CERTIFICATION FORM	Submitted stating: A) Contractor currently complies	Submitted stating: A) Contractor currently complies
6.4 VENDOR DRUG FREE WORKPLACE	Submitted stating: Complies fully	Submitted stating: Complies fully
CERTIFICATION	Submitted stating. Compiles rully	Submitted stating. Compiles fully
6.5 SCRUTINIZED COMPANY CERTIFICATION	Submitted	Submitted
6.6 E-VERIFY SYSTEM CERTIFICATION	Submitted	Submitted
6.7 HUMAN TRAFFICKING AFFIDAVIT	Submitted	Submitted
6.8 VENDOR INFORMATION FORM	Submitted	Submitted. Also, submitted Sunbiz Detail by Entity Name for PC Solutions & Integration, Inc.
6.9 FORM W-9 (REVISED MARCH 2024)	Submitted. Also, submitted 2025 Florida Profit Corporation Annual Report	Submitted
7. OPTIONAL DOCUMENTATION		
7.1 TRADE SECRETS		
7.2 FINANCIAL STATEMENTS		
7.3 ALTERNATIVES		Datasheets on alternative products from Juniper and formal
7.3 ALTERNATIVES		quote.
7.3 ALTERNATIVES 7.4 ADDITIONAL INFORMATION		
		quote.
		quote.  Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's
		quote. Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network
		quote.  Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote
7.4 ADDITIONAL INFORMATION		quote. Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network
		quote.  Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote
7.4 ADDITIONAL INFORMATION		quote.  Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote
7.4 ADDITIONAL INFORMATION		quote.  Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote
7.4 ADDITIONAL INFORMATION		quote.  Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote
7.4 ADDITIONAL INFORMATION		quote.  Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote
7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES	No	quote.  Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote
7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION	No	quote.  Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote again.
7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION  8.1 Is your firm a Veteran Owned Small	No	quote.  Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote again.
7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION  8.1 Is your firm a Veteran Owned Small Business (VOSB)?		quote.  Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network implementation Project Plan document, and the formal quote again.  No
7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION  8.1 Is your firm a Veteran Owned Small Business (VOSB)?  8.2 Is your firm a Minority-Owned Business	No No	quote. Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote again.  No  Stated: Yes, Hispanic-American MBE. Submitted State of Florida Woman &
7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION  8.1 Is your firm a Veteran Owned Small Business (VOSB)?		quote.  Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network implementation Project Plan document, and the formal quote again.  No
7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION  8.1 Is your firm a Veteran Owned Small Business (VOSB)?  8.2 Is your firm a Minority-Owned Business		quote. Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote again.  No  Stated: Yes, Hispanic-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  Stated: Yes. Submitted State of Florida Woman & Minority
7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION 8.1 Is your firm a Veteran Owned Small Business (VOSB)?  8.2 Is your firm a Minority-Owned Business Enterprise (MBE)?  8.3 Is your firm a Woman-Owned Business	No	quote. Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote again.  No  Stated: Yes, Hispanic-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  Stated: Yes. Submitted State of Florida Woman & Minority
7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION  8.1 Is your firm a Veteran Owned Small Business (VOSB)?  8.2 Is your firm a Minority-Owned Business Enterprise (MBE)?	No	Quote.  Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote again.  No  No  Stated: Yes, Hispanic-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.
7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION  8.1 Is your firm a Veteran Owned Small Business (VOSB)?  8.2 Is your firm a Minority-Owned Business Enterprise (MBE)?  8.3 Is your firm a Woman-Owned Business Enterprise (WBE)?	No No	quote.  Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote again.  No  Stated: Yes, Hispanic-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.
7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION  8.1 Is your firm a Veteran Owned Small Business (VOSB)?  8.2 Is your firm a Minority-Owned Business Enterprise (MBE)?  8.3 Is your firm a Woman-Owned Business Enterprise (WBE)?  8.4 Is your firm a HubZone Business / Labor Surplus Area Firm?  8.5 Is your firm a Broward County Small	No No	quote.  Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote again.  No  Stated: Yes, Hispanic-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.
7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION  8.1 Is your firm a Veteran Owned Small Business (VOSB)?  8.2 Is your firm a Minority-Owned Business Enterprise (MBE)?  8.3 Is your firm a Woman-Owned Business Enterprise (WBE)?  8.4 Is your firm a HubZone Business / Labor Surplus Area Firm?  8.5 Is your firm a Broward County Small Business Enterprise (SBE)?	No No No	Quote. Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote again.  No  Stated: Yes, Hispanic-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  Stated: Yes. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  No
7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION  8.1 Is your firm a Veteran Owned Small Business (VOSB)?  8.2 Is your firm a Minority-Owned Business Enterprise (MBE)?  8.3 Is your firm a Woman-Owned Business Enterprise (WBE)?  8.4 Is your firm a HubZone Business / Labor Surplus Area Firm?  8.5 Is your firm a Broward County Small Business Enterprise (SBE)?  8.6 Is your firm a Broward County Business	No No	Quote. Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote again.  No  Stated: Yes, Hispanic-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  Stated: Yes. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  No
7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION  8.1 Is your firm a Veteran Owned Small Business (VOSB)?  8.2 Is your firm a Minority-Owned Business Enterprise (MBE)?  8.3 Is your firm a Woman-Owned Business Enterprise (WBE)?  8.4 Is your firm a HubZone Business / Labor Surplus Area Firm?  8.5 Is your firm a Broward County Small Business Enterprise (SBE)?  8.6 Is your firm a Broward County Business Enterprise (CBE)?	No No No	Quote. Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote again.  No  Stated: Yes, Hispanic-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  Stated: Yes. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  No
7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION  8.1 Is your firm a Veteran Owned Small Business (VOSB)?  8.2 Is your firm a Minority-Owned Business Enterprise (MBE)?  8.3 Is your firm a Woman-Owned Business Enterprise (WBE)?  8.4 Is your firm a HubZone Business / Labor Surplus Area Firm?  8.5 Is your firm a Broward County Small Business Enterprise (SBE)?  8.6 Is your firm a Broward County Business	No No No	Quote. Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote again.  No  Stated: Yes, Hispanic-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  Stated: Yes. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  No
7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION  8.1 Is your firm a Veteran Owned Small Business (VOSB)?  8.2 Is your firm a Minority-Owned Business Enterprise (MBE)?  8.3 Is your firm a Woman-Owned Business Enterprise (WBE)?  8.4 Is your firm a HubZone Business / Labor Surplus Area Firm?  8.5 Is your firm a Broward County Small Business Enterprise (SBE)?  8.6 Is your firm a Broward County Business Enterprise (CBE)?	No No No No No	Quote. Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote again.  No  Stated: Yes, Hispanic-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  Stated: Yes. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  No  No
7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION  8.1 Is your firm a Veteran Owned Small Business (VOSB)?  8.2 Is your firm a Minority-Owned Business Enterprise (MBE)?  8.3 Is your firm a Woman-Owned Business Enterprise (WBE)?  8.4 Is your firm a HubZone Business / Labor Surplus Area Firm?  8.5 Is your firm a Broward County Small Business Enterprise (SBE)?  8.6 Is your firm a Broward County Business Enterprise (CBE)?  8.7 Is your firm a Broward County Disadvantaged Business Enterprise (OBE)?	No No No No No No	quote.  Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote again.  No  No  Stated: Yes, Hispanic-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  Stated: Yes. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  No  No  No  No
7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION  8.1 Is your firm a Veteran Owned Small Business (VOSB)?  8.2 Is your firm a Minority-Owned Business Enterprise (MBE)?  8.3 Is your firm a Woman-Owned Business Enterprise (WBE)?  8.4 Is your firm a HubZone Business / Labor Surplus Area Firm?  8.5 Is your firm a Broward County Small Business Enterprise (SBE)?  8.6 Is your firm a Broward County Business Enterprise (CBE)?  8.7 Is your firm a Broward County Disadvantaged Business Enterprise (DBE)?  8.8 Does your firm have a Vendor	No No No No No	Quote. Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote again.  No  Stated: Yes, Hispanic-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  Stated: Yes. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  No  No
7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION  8.1 Is your firm a Veteran Owned Small Business (VOSB)?  8.2 Is your firm a Minority-Owned Business Enterprise (MBE)?  8.3 Is your firm a Woman-Owned Business Enterprise (WBE)?  8.4 Is your firm a HubZone Business / Labor Surplus Area Firm?  8.5 Is your firm a Broward County Small Business Enterprise (SBE)?  8.6 Is your firm a Broward County Business Enterprise (CBE)?  8.7 Is your firm a Broward County Disadvantaged Business Enterprise (OBE)?	No No No No No No	Quote. Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote again.  No  Stated: Yes, Hispanic-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  Stated: Yes. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  No  No  No  No
7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION  8.1 Is your firm a Veteran Owned Small Business (VOSB)?  8.2 Is your firm a Minority-Owned Business Enterprise (MBE)?  8.3 Is your firm a Woman-Owned Business Enterprise (WBE)?  8.4 Is your firm a HubZone Business / Labor Surplus Area Firm?  8.5 Is your firm a Broward County Small Business Enterprise (SBE)?  8.6 Is your firm a Broward County Business Enterprise (CBE)?  8.7 Is your firm a Broward County Disadvantaged Business Enterprise (DBE)?  8.8 Does your firm have a Vendor Classification that was not listed above?	No No No No No No	Quote. Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote again.  No  Stated: Yes, Hispanic-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  Stated: Yes. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  No  No  No  No
7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION 8.1 Is your firm a Veteran Owned Small Business (VOSB)?  8.2 Is your firm a Minority-Owned Business Enterprise (MBE)? 8.3 Is your firm a Woman-Owned Business Enterprise (WBE)? 8.4 Is your firm a HubZone Business / Labor Surplus Area Firm? 8.5 Is your firm a Broward County Small Business Enterprise (CBE)? 8.6 Is your firm a Broward County Business Enterprise (CBE)? 8.7 Is your firm a Broward County Disadvantaged Business Enterprise (DBE)?  8.8 Does your firm have a Vendor Classification that was not listed above?  9. FEDERAL DOCUMENTS	No	Quote. Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote again.  No  Stated: Yes, Hispanic-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  Stated: Yes. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  No  No  No  No  No
7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION 8.1 Is your firm a Veteran Owned Small Business (VOSB)?  8.2 Is your firm a Winority-Owned Business Enterprise (MBE)? 8.3 Is your firm a Woman-Owned Business Enterprise (WBE)? 8.4 Is your firm a HubZone Business / Labor Surplus Area Firm? 8.5 Is your firm a Broward County Small Business Enterprise (SBE)? 8.6 Is your firm a Broward County Business Enterprise (CBE)? 8.7 Is your firm a Broward County Disadvantaged Business Enterprise (DBE)? 8.8 Does your firm have a Vendor Classification that was not listed above?  9. FEEDERAL DOCUMENTS 9.1 Certification Regarding Lobbying; Debarment,	No No No No No No	Quote. Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote again.  No  Stated: Yes, Hispanic-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  Stated: Yes. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  No  No  No  No
7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION  8.1 Is your firm a Veteran Owned Small Business (VOSB)?  8.2 Is your firm a Minority-Owned Business Enterprise (MBE)?  8.3 Is your firm a Woman-Owned Business Enterprise (WBE)?  8.4 Is your firm a HubZone Business / Labor Surplus Area Firm?  8.5 Is your firm a Broward County Small Business Enterprise (SBE)?  8.6 Is your firm a Broward County Business Enterprise (CBE)?  8.7 Is your firm a Broward County Disadvantaged Business Enterprise (DBE)?  8.8 Does your firm have a Vendor Classification that was not listed above?  9. FEDERAL DOCUMENTS  9. 1 Certification Regarding Lobbying: Debarment, Suspension and Other Responsibility Matters for	No	Quote. Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote again.  No  Stated: Yes, Hispanic-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  Stated: Yes. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  No  No  No  No  No
7.4 ADDITIONAL INFORMATION  7.5 PROFESSIONAL LICENSES  8. VENDOR CLASSIFICATION 8.1 Is your firm a Veteran Owned Small Business (VOSB)?  8.2 Is your firm a Winority-Owned Business Enterprise (MBE)? 8.3 Is your firm a Woman-Owned Business Enterprise (WBE)? 8.4 Is your firm a HubZone Business / Labor Surplus Area Firm? 8.5 Is your firm a Broward County Small Business Enterprise (SBE)? 8.6 Is your firm a Broward County Business Enterprise (CBE)? 8.7 Is your firm a Broward County Disadvantaged Business Enterprise (DBE)? 8.8 Does your firm have a Vendor Classification that was not listed above?  9. FEEDERAL DOCUMENTS 9.1 Certification Regarding Lobbying; Debarment,	No	Quote. Provided a "Who We Are" document, a "Welcome to PCS" document, a "Juniper - PCS Partnership" document, a "Firm's Approach and Methodology" document with a Sample Network Implementation Project Plan document, and the formal quote again.  No  Stated: Yes, Hispanic-American MBE. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  Stated: Yes. Submitted State of Florida Woman & Minority Business Certification which expires on April 29, 2026.  No  No  No  No  No



### City of Pembroke Pines

# Procurement

Mark Gomes, Procurement Director 601 City Center Way, Pembroke Pines, FL 33025

#### **EVALUATION TABULATION**

RFP No. TS-25-01

## Network Gear Infrastructure AV Campus

RESPONSE DEADLINE: January 21, 2025 at 2:00 pm Report Generated: Monday, February 10, 2025

#### **SELECTED VENDOR TOTALS**

Vendor	Total
PC Solutions & Integration, Inc.	\$263,708.55
Axelliant LLC	\$654,097.90
Verity Partners Inc	\$654,330.04
DOF CREATIONS, LLC	\$666,964.05
Pawol Tafya, LLC	\$754,088.641
Gerelcom Inc.	\$807,758.64
Questivity	\$821,447.45
Emerging Technology Integrators	\$833,192.71
Howard Technology Solutions	\$844,378.53
MIAMI BUSINESS TELEPHONE CORP	\$968,945.05

Network Infrastructure Equipment			Axelliant LLC	
Line Item Description	Quantity	Unit of Measure	Unit Cost	Total
1 Catalyst 9164I AP (W6E, tri-band 4x4) w/Reg-B	144	Each	\$984.22	\$141,727.68
CX LEVEL 1 8X7NCD CATALYST 9164I AP (W6E, TRI-				
2 BAND 4X4) W/	144	Each	\$294.08	\$42,347.52
Cisco Customer Experience (CX) Level 1 - Service -				
3 Technical	144	Each	\$28.32	\$4,078.08
Cisco Digital Network Architecture Essentials - Term				
4 License - 1 License - 3 Year	144	Each	\$121.45	\$17,488.80
Cisco Catalyst 9200 C9200L-48P-4X Layer 3 Switch -				
48 Ports - Manageable - Gigabit Ethernet, 10 Gigabit				
Ethernet - 10/100/1000Base-T, 10GBase-X - 3 Layer				
Supported - Modular - Twisted Pair, Optical Fiber -				
5 PoE Ports - Rack-mountable	37	Each	\$3,849.09	\$142,416.33
Cisco CX Success Tracks Level 1 - Extended Service -				
6 Service - 8 x 7 x Next Day - Service Depot - Exchange	37	Each	\$1,895.00	\$70,115.00
Cisco Customer Experience (CX) Level 1 - Service -				
7 Technical	37	Each	\$548.95	\$20,311.15
Cisco Digital Network Architecture Advantage -				
8 Term License - 48 Port - 3 Year	37	Each	\$2,079.95	\$76,958.15
9 Cisco Stack Kit,	37	Each	\$748.47	\$27,693.39
Cisco Catalyst 9200 C9200L-48P-4X Layer 3 Switch -				
48 Ports - Manageable - Gigabit Ethernet, 10 Gigabit				
Ethernet - 10/100/1000Base-T, 10GBase-X - 3 Layer				
Supported - Modular - Twisted Pair, Optical Fiber -				
10 PoE Ports - Rack-mountable	10	Each	\$3,849.09	\$38,490.90
Cisco CX Success Tracks Level 1 - Extended Service -				
11 Service - 8 x 7 x Next Day - Service Depot - Exchange	10	Each	\$1,895.19	\$18,951.90
Cisco Customer Experience (CX) Level 1 - Service -				
12 Technical	10	Each	\$548.95	\$5,489.50
Cisco Digital Network Architecture Advantage -				
13 Term License - 48 Port - 3 Year		Each	\$2,079.95	
14 Cisco Power Supply - 1000 W		Each	\$1,974.53	
15 Cisco Stack Kit	10	Each	\$748.47	\$7,484.70
Total				\$654,097.90

Network Infrastructure Equipment			Verity Partners Inc	
Line Item Description	Quantity	Unit of Measure	Unit Cost	Total
1 Catalyst 9164I AP (W6E, tri-band 4x4) w/Reg-B	144	Each	\$1,010.22	\$145,471.68
CX LEVEL 1 8X7NCD CATALYST 9164I AP (W6E, TRI-				
2 BAND 4X4) W/	144	Each	\$121.00	\$17,424.00
Cisco Customer Experience (CX) Level 1 - Service -				
3 Technical	144	Each	\$13.94	\$2,007.36
Cisco Digital Network Architecture Essentials - Term				
4 License - 1 License - 3 Year	144	Each	\$134.00	\$19,296.00
Cisco Catalyst 9200 C9200L-48P-4X Layer 3 Switch -				
48 Ports - Manageable - Gigabit Ethernet, 10 Gigabit				
Ethernet - 10/100/1000Base-T, 10GBase-X - 3 Layer				
Supported - Modular - Twisted Pair, Optical Fiber -				
5 PoE Ports - Rack-mountable	37	Each	\$4,910.00	\$181,670.00
Cisco CX Success Tracks Level 1 - Extended Service -				
6 Service - 8 x 7 x Next Day - Service Depot - Exchange	37	Each	\$788.00	\$29,156.00
Cisco Customer Experience (CX) Level 1 - Service -				
7 Technical	37	Each	\$228.00	\$8,436.00
Cisco Digital Network Architecture Advantage -				
8 Term License - 48 Port - 3 Year	37	Each	\$2,739.00	\$101,343.00
9 Cisco Stack Kit,	37	Each	\$798.00	\$29,526.00
Cisco Catalyst 9200 C9200L-48P-4X Layer 3 Switch -				
48 Ports - Manageable - Gigabit Ethernet, 10 Gigabit				
Ethernet - 10/100/1000Base-T, 10GBase-X - 3 Layer				
Supported - Modular - Twisted Pair, Optical Fiber -				
10 PoE Ports - Rack-mountable	10	Each	\$4,910.00	\$49,100.00
Cisco CX Success Tracks Level 1 - Extended Service -				
11 Service - 8 x 7 x Next Day - Service Depot - Exchange	10	Each	\$788.00	\$7,880.00
Cisco Customer Experience (CX) Level 1 - Service -				
12 Technical	10	Each	\$228.00	\$2,280.00
Cisco Digital Network Architecture Advantage -				
13 Term License - 48 Port - 3 Year		Each	\$2,739.00	\$27,390.00
14 Cisco Power Supply - 1000 W		Each	\$2,537.00	\$25,370.00
15 Cisco Stack Kit	10	Each	\$798.00	\$7,980.00
Total				\$654,330.04

Network Infrastructure Equipment			DOF CREATIONS, LLC	
Line Item Description	Quantity	Unit of Measure		Total
1 Catalyst 9164I AP (W6E, tri-band 4x4) w/Reg-B	144	Each	\$1,036.81	\$149,300.64
CX LEVEL 1 8X7NCD CATALYST 9164I AP (W6E, TRI-				
2 BAND 4X4) W/	144	Each	\$298.12	\$42,929.28
Cisco Customer Experience (CX) Level 1 - Service -				
3 Technical	144	Each	\$28.71	\$4,134.24
Cisco Digital Network Architecture Essentials - Term				
4 License - 1 License - 3 Year	144	Each	\$125.09	\$18,012.96
Cisco Catalyst 9200 C9200L-48P-4X Layer 3 Switch -				
48 Ports - Manageable - Gigabit Ethernet, 10 Gigabit				
Ethernet - 10/100/1000Base-T, 10GBase-X - 3 Layer				
Supported - Modular - Twisted Pair, Optical Fiber -				
5 PoE Ports - Rack-mountable	37	Each	\$3,878.47	\$143,503.39
Cisco CX Success Tracks Level 1 - Extended Service -				
6 Service - 8 x 7 x Next Day - Service Depot - Exchange	37	Each	\$1,921.22	\$71,085.14
Cisco Customer Experience (CX) Level 1 - Service -				
7 Technical	37	Each	\$556.49	\$20,590.13
Cisco Digital Network Architecture Advantage -				
8 Term License - 48 Port - 3 Year	37	Each	\$2,095.82	\$77,545.34
9 Cisco Stack Kit,	37	Each	\$754.19	\$27,905.03
Cisco Catalyst 9200 C9200L-48P-4X Layer 3 Switch -				
48 Ports - Manageable - Gigabit Ethernet, 10 Gigabit				
Ethernet - 10/100/1000Base-T, 10GBase-X - 3 Layer				
Supported - Modular - Twisted Pair, Optical Fiber -				
10 PoE Ports - Rack-mountable	10	Each	\$3,878.47	\$38,784.70
Cisco CX Success Tracks Level 1 - Extended Service -				
11 Service - 8 x 7 x Next Day - Service Depot - Exchange	10	Each	\$1,921.22	\$19,212.20
Cisco Customer Experience (CX) Level 1 - Service -				
12 Technical	10	Each	\$556.49	\$5,564.90
Cisco Digital Network Architecture Advantage -				
13 Term License - 48 Port - 3 Year		Each	\$2,095.82	\$20,958.20
14 Cisco Power Supply - 1000 W		Each	\$1,989.60	\$19,896.00
15 Cisco Stack Kit	10	Each	\$754.19	\$7,541.90
Total				\$666,964.05

Network Infrastructure Equipment			Pawol Tafya, LLC	
Line Item Description	Quantity	Unit of Measure	-	Total
1 Catalyst 9164I AP (W6E, tri-band 4x4) w/Reg-B	144	Each	\$1,021.3459	\$147,073.8096
CX LEVEL 1 8X7NCD CATALYST 9164I AP (W6E, TRI-				
2 BAND 4X4) W/	144	Each	\$300.0578	\$43,208.3232
Cisco Customer Experience (CX) Level 1 - Service -				
3 Technical	144	Each	\$28.8966	\$4,161.1104
Cisco Digital Network Architecture Essentials - Term				
4 License - 1 License - 3 Year	144	Each	\$125.9031	\$18,130.0464
Cisco Catalyst 9200 C9200L-48P-4X Layer 3 Switch -				
48 Ports - Manageable - Gigabit Ethernet, 10 Gigabit				
Ethernet - 10/100/1000Base-T, 10GBase-X - 3 Layer				
Supported - Modular - Twisted Pair, Optical Fiber -				
5 PoE Ports - Rack-mountable	37	Each	\$4,983.4231	\$184,386.6547
Cisco CX Success Tracks Level 1 - Extended Service -				
6 Service - 8 x 7 x Next Day - Service Depot - Exchange	37	Each	\$1,933.7079	\$71,547.1923
Cisco Customer Experience (CX) Level 1 - Service -				
7 Technical	37	Each	\$560.1072	\$20,723.9664
Cisco Digital Network Architecture Advantage -				
8 Term License - 48 Port - 3 Year	_	Each	\$2,692.9008	\$99,637.3296
9 Cisco Stack Kit,	37	Each	\$807.5452	\$29,879.1724
Cisco Catalyst 9200 C9200L-48P-4X Layer 3 Switch -				
48 Ports - Manageable - Gigabit Ethernet, 10 Gigabit				
Ethernet - 10/100/1000Base-T, 10GBase-X - 3 Layer				
Supported - Modular - Twisted Pair, Optical Fiber -				
10 PoE Ports - Rack-mountable	10	Each	\$4,983.4231	\$49,834.231
Cisco CX Success Tracks Level 1 - Extended Service -				
11 Service - 8 x 7 x Next Day - Service Depot - Exchange	10	Each	\$1,933.7079	\$19,337.079
Cisco Customer Experience (CX) Level 1 - Service -				
12 Technical	10	Each	\$560.1072	\$5,601.072
Cisco Digital Network Architecture Advantage -				
13 Term License - 48 Port - 3 Year		Each	\$2,692.9008	\$26,929.008
14 Cisco Power Supply - 1000 W		Each	\$2,556.4194	\$25,564.194
15 Cisco Stack Kit	10	Each	\$807.5452	\$8,075.452
Total				\$754,088.641

Network Infrastructure Equipment			Gerelcom Inc.	
Line Item   Description	Quantity	<b>Unit of Measure</b>	Unit Cost	Total
1 Catalyst 9164I AP (W6E, tri-band 4x4) w/Reg-B	144	Each	\$1,132.40	\$163,065.60
CX LEVEL 1 8X7NCD CATALYST 9164I AP (W6E, TRI-				
2 BAND 4X4) W/	144	Each	\$272.44	\$39,231.36
Cisco Customer Experience (CX) Level 1 - Service -				
3 Technical	144	Each	\$26.24	\$3,778.56
Cisco Digital Network Architecture Essentials - Term				
4 License - 1 License - 3 Year	144	Each	\$139.73	\$20,121.12
Cisco Catalyst 9200 C9200L-48P-4X Layer 3 Switch -				
48 Ports - Manageable - Gigabit Ethernet, 10 Gigabit				
Ethernet - 10/100/1000Base-T, 10GBase-X - 3 Layer				
Supported - Modular - Twisted Pair, Optical Fiber -				
5 PoE Ports - Rack-mountable	37	Each	\$5,583.89	\$206,603.93
Cisco CX Success Tracks Level 1 - Extended Service -				
6 Service - 8 x 7 x Next Day - Service Depot - Exchange	37	Each	\$1,755.75	\$64,962.75
Cisco Customer Experience (CX) Level 1 - Service -				
7 Technical	37	Each	\$508.56	\$18,816.72
Cisco Digital Network Architecture Advantage -				
8 Term License - 48 Port - 3 Year	37	Each	\$3,017.39	\$111,643.43
9 Cisco Stack Kit,	37	Each	\$898.61	\$33,248.57
Cisco Catalyst 9200 C9200L-48P-4X Layer 3 Switch -				
48 Ports - Manageable - Gigabit Ethernet, 10 Gigabit				
Ethernet - 10/100/1000Base-T, 10GBase-X - 3 Layer				
Supported - Modular - Twisted Pair, Optical Fiber -				
10 PoE Ports - Rack-mountable	10	Each	\$5,583.89	\$55,838.90
Cisco CX Success Tracks Level 1 - Extended Service -				
11 Service - 8 x 7 x Next Day - Service Depot - Exchange	10	Each	\$1,755.75	\$17,557.50
Cisco Customer Experience (CX) Level 1 - Service -				
12 Technical	10	Each	\$508.56	\$5,085.60
Cisco Digital Network Architecture Advantage -				
13 Term License - 48 Port - 3 Year	10	Each	\$3,017.39	\$30,173.90
14 Cisco Power Supply - 1000 W	10	Each	\$2,864.46	\$28,644.60
15 Cisco Stack Kit	10	Each	\$898.61	\$8,986.10
Total				\$807,758.64

Network Infrastructure Equipment		Questivity		
Line Item Description	Quantity	Unit of Measure Unit Cost	To	otal
1 Catalyst 9164I AP (W6E, tri-band 4x4) w/Reg-B	144	Each	\$981.66	\$141,359.04
CX LEVEL 1 8X7NCD CATALYST 9164I AP (W6E, TRI-				
2 BAND 4X4) W/	144	Each	\$292.05	\$42,055.20
Cisco Customer Experience (CX) Level 1 - Service -				
3 Technical	144	Each	\$28.12	\$4,049.28
Cisco Digital Network Architecture Essentials - Term				
4 License - 1 License - 3 Year	144	Each	\$121.10	\$17,438.40
Cisco Catalyst 9200 C9200L-48P-4X Layer 3 Switch -				
48 Ports - Manageable - Gigabit Ethernet, 10 Gigabit				
Ethernet - 10/100/1000Base-T, 10GBase-X - 3 Layer				
Supported - Modular - Twisted Pair, Optical Fiber -				
5 PoE Ports - Rack-mountable	37	Each	\$4,827.46	\$178,616.02
Cisco CX Success Tracks Level 1 - Extended Service -				
6 Service - 8 x 7 x Next Day - Service Depot - Exchange	37	Each	\$1,882.07	\$69,636.59
Cisco Customer Experience (CX) Level 1 - Service -				
7 Technical	37	Each	\$545.15	\$20,170.55
Cisco Digital Network Architecture Advantage -				
8 Term License - 48 Port - 3 Year	37	Each	\$5,085.05	\$188,146.85
9 Cisco Stack Kit,	37	Each	\$778.26	\$28,795.62
Cisco Catalyst 9200 C9200L-48P-4X Layer 3 Switch -				
48 Ports - Manageable - Gigabit Ethernet, 10 Gigabit				
Ethernet - 10/100/1000Base-T, 10GBase-X - 3 Layer				
Supported - Modular - Twisted Pair, Optical Fiber -				
10 PoE Ports - Rack-mountable	10	Each	\$4,827.46	\$48,274.60
Cisco CX Success Tracks Level 1 - Extended Service -				
11 Service - 8 x 7 x Next Day - Service Depot - Exchange	10	Each	\$1,882.07	\$18,820.70
Cisco Customer Experience (CX) Level 1 - Service -				
12 Technical	10	Each	\$545.15	\$5,451.50
Cisco Digital Network Architecture Advantage -				
13 Term License - 48 Port - 3 Year	10	Each	\$2,608.63	\$26,086.30
14 Cisco Power Supply - 1000 W		Each	\$2,476.42	\$24,764.20
15 Cisco Stack Kit	10	Each	\$778.26	\$7,782.60
Total				\$821,447.45

Network Infrastructure Equipment			Emerging Technology Integr	ators
Line Item Description	Quantity	Unit of Measure		Total
1 Catalyst 9164I AP (W6E, tri-band 4x4) w/Reg-B	144	Each	\$1,367.71	\$196,950.24
CX LEVEL 1 8X7NCD CATALYST 9164I AP (W6E, TRI-				
2 BAND 4X4) W/	144	Each	\$308.25	\$44,388.00
Cisco Customer Experience (CX) Level 1 - Service -				
3 Technical	144	Each	\$29.68	\$4,273.92
Cisco Digital Network Architecture Essentials - Term				
4 License - 1 License - 3 Year	144	Each	\$165.01	\$23,761.44
Cisco Catalyst 9200 C9200L-48P-4X Layer 3 Switch -				
48 Ports - Manageable - Gigabit Ethernet, 10 Gigabit	•			
Ethernet - 10/100/1000Base-T, 10GBase-X - 3 Layer				
Supported - Modular - Twisted Pair, Optical Fiber -				
5 PoE Ports - Rack-mountable	37	Each	\$5,116.28	\$189,302.36
Cisco CX Success Tracks Level 1 - Extended Service -				
6 Service - 8 x 7 x Next Day - Service Depot - Exchange	37	Each	\$1,986.47	\$73,499.39
Cisco Customer Experience (CX) Level 1 - Service -				
7 Technical	37	Each	\$575.39	\$21,289.43
Cisco Digital Network Architecture Advantage -				
8 Term License - 48 Port - 3 Year		Each	\$2,764.70	\$102,293.90
9 Cisco Stack Kit,	37	Each	\$994.89	\$36,810.93
Cisco Catalyst 9200 C9200L-48P-4X Layer 3 Switch -				
48 Ports - Manageable - Gigabit Ethernet, 10 Gigabit	•			
Ethernet - 10/100/1000Base-T, 10GBase-X - 3 Layer				
Supported - Modular - Twisted Pair, Optical Fiber -				
10 PoE Ports - Rack-mountable	10	Each	\$5,116.28	\$51,162.80
Cisco CX Success Tracks Level 1 - Extended Service -			4	
11 Service - 8 x 7 x Next Day - Service Depot - Exchange	10	Each	\$1,986.47	\$19,864.70
Cisco Customer Experience (CX) Level 1 - Service -				
12 Technical	10	Each	\$575.39	\$5,753.90
Cisco Digital Network Architecture Advantage -				
13 Term License - 48 Port - 3 Year		Each	\$2,764.70	\$27,647.00
14 Cisco Power Supply - 1000 W		Each	\$2,624.58	\$26,245.80
15 Cisco Stack Kit	10	Each	\$994.89	\$9,948.90
Total				\$833,192.71

Network Infrastructure Equipment			Howard Technology Solution	ns
Line Item Description	Quantity	Unit of Measure	Unit Cost	Total
1 Catalyst 9164I AP (W6E, tri-band 4x4) w/Reg-B	144	Each	\$1,094.00	\$157,536.00
CX LEVEL 1 8X7NCD CATALYST 9164I AP (W6E, TRI-				
2 BAND 4X4) W/	144	Each	\$545.00	\$78,480.00
Cisco Customer Experience (CX) Level 1 - Service -				
3 Technical	144	Each	\$53.00	\$7,632.00
Cisco Digital Network Architecture Essentials - Term				
4 License - 1 License - 3 Year	144	Each	\$290.00	\$41,760.00
Cisco Catalyst 9200 C9200L-48P-4X Layer 3 Switch -				
48 Ports - Manageable - Gigabit Ethernet, 10 Gigabit				
Ethernet - 10/100/1000Base-T, 10GBase-X - 3 Layer				
Supported - Modular - Twisted Pair, Optical Fiber -				
5 PoE Ports - Rack-mountable	37	Each	\$5,391.99	\$199,503.63
Cisco CX Success Tracks Level 1 - Extended Service -				
6 Service - 8 x 7 x Next Day - Service Depot - Exchange	37	Each	\$2,107.00	\$77,959.00
Cisco Customer Experience (CX) Level 1 - Service -				
7 Technical	37	Each	\$611.00	\$22,607.00
Cisco Digital Network Architecture Advantage -				
8 Term License - 48 Port - 3 Year	37	Each	\$2,915.00	\$107,855.00
9 Cisco Stack Kit,	37	Each	\$868.00	\$32,116.00
Cisco Catalyst 9200 C9200L-48P-4X Layer 3 Switch -				
48 Ports - Manageable - Gigabit Ethernet, 10 Gigabit				
Ethernet - 10/100/1000Base-T, 10GBase-X - 3 Layer				
Supported - Modular - Twisted Pair, Optical Fiber -				
10 PoE Ports - Rack-mountable	10	Each	\$5,391.99	\$53,919.90
Cisco CX Success Tracks Level 1 - Extended Service -				
11 Service - 8 x 7 x Next Day - Service Depot - Exchange	10	Each	\$2,107.00	\$21,070.00
Cisco Customer Experience (CX) Level 1 - Service -				
12 Technical	10	Each	\$611.00	\$6,110.00
Cisco Digital Network Architecture Advantage -				
13 Term License - 48 Port - 3 Year	10	Each	\$2,915.00	\$29,150.00
14 Cisco Power Supply - 1000 W		Each	\$0.00	\$0.00
15 Cisco Stack Kit	10	Each	\$868.00	\$8,680.00
Total				\$844,378.53

Network Infrastructure Equipment			MIAMI BUSINESS TELEPHON	E CORP
Line Item Description	Quantity	Unit of Measure	Unit Cost	<b>Total</b>
1 Catalyst 9164I AP (W6E, tri-band 4x4) w/Reg-B	144	Each	\$1,434.77	\$206,606.88
CX LEVEL 1 8X7NCD CATALYST 9164I AP (W6E, TRI-				
2 BAND 4X4) W/	144	Each	\$130.83	\$18,839.52
Cisco Customer Experience (CX) Level 1 - Service -				
3 Technical	144	Each	\$16.00	\$2,304.00
Cisco Digital Network Architecture Essentials - Term				
4 License - 1 License - 3 Year	144	Each	\$289.75	\$41,724.00
Cisco Catalyst 9200 C9200L-48P-4X Layer 3 Switch -				
48 Ports - Manageable - Gigabit Ethernet, 10 Gigabit				
Ethernet - 10/100/1000Base-T, 10GBase-X - 3 Layer				
Supported - Modular - Twisted Pair, Optical Fiber -				
5 PoE Ports - Rack-mountable	37	Each	\$7,759.11	\$287,087.07
Cisco CX Success Tracks Level 1 - Extended Service -				
6 Service - 8 x 7 x Next Day - Service Depot - Exchange	37	Each	\$866.27	\$32,051.99
Cisco Customer Experience (CX) Level 1 - Service -				
7 Technical	37	Each	\$251.43	\$9,302.91
Cisco Digital Network Architecture Advantage -				
8 Term License - 48 Port - 3 Year	37	Each	\$3,821.89	\$141,409.93
9 Cisco Stack Kit,	37	Each	\$1,434.75	\$53,085.75
Cisco Catalyst 9200 C9200L-48P-4X Layer 3 Switch -				
48 Ports - Manageable - Gigabit Ethernet, 10 Gigabit				
Ethernet - 10/100/1000Base-T, 10GBase-X - 3 Layer				
Supported - Modular - Twisted Pair, Optical Fiber -				
10 PoE Ports - Rack-mountable	10	Each	\$7,759.10	\$77,591.00
Cisco CX Success Tracks Level 1 - Extended Service -				
11 Service - 8 x 7 x Next Day - Service Depot - Exchange	10	Each	\$866.30	\$8,663.00
Cisco Customer Experience (CX) Level 1 - Service -				
12 Technical	10	Each	\$251.40	\$2,514.00
Cisco Digital Network Architecture Advantage -				
13 Term License - 48 Port - 3 Year	10	Each	\$3,821.90	\$38,219.00
14 Cisco Power Supply - 1000 W		Each	\$3,519.80	\$35,198.00
15 Cisco Stack Kit	10	Each	\$1,434.80	\$14,348.00
Total				\$968,945.05

Network Infrastructure Equipment			PC Solutions & Integration, I	nc.
Line Item Description	Quantity	Unit of Measure	Unit Cost	Total
1 Catalyst 9164I AP (W6E, tri-band 4x4) w/Reg-B	144	Each	\$750.30	\$108,043.20
CX LEVEL 1 8X7NCD CATALYST 9164I AP (W6E, TRI-				
2 BAND 4X4) W/	144	Each	\$0.00	\$0.00
Cisco Customer Experience (CX) Level 1 - Service -				
3 Technical	144	Each	\$0.00	\$0.00
Cisco Digital Network Architecture Essentials - Term				
4 License - 1 License - 3 Year	144	Each	\$0.00	\$0.00
Cisco Catalyst 9200 C9200L-48P-4X Layer 3 Switch -				
48 Ports - Manageable - Gigabit Ethernet, 10 Gigabit				
Ethernet - 10/100/1000Base-T, 10GBase-X - 3 Layer				
Supported - Modular - Twisted Pair, Optical Fiber -				
5 PoE Ports - Rack-mountable	37	Each	\$2,552.75	\$94,451.75
Cisco CX Success Tracks Level 1 - Extended Service -				
6 Service - 8 x 7 x Next Day - Service Depot - Exchange	37	Each	\$0.00	\$0.00
Cisco Customer Experience (CX) Level 1 - Service -				
7 Technical	37	Each	\$0.00	\$0.00
Cisco Digital Network Architecture Advantage -				
8 Term License - 48 Port - 3 Year	37	Each	\$620.55	\$22,960.35
9 Cisco Stack Kit,	37	Each	\$0.00	\$0.00
Cisco Catalyst 9200 C9200L-48P-4X Layer 3 Switch -				
48 Ports - Manageable - Gigabit Ethernet, 10 Gigabit				
Ethernet - 10/100/1000Base-T, 10GBase-X - 3 Layer				
Supported - Modular - Twisted Pair, Optical Fiber -				
10 PoE Ports - Rack-mountable	10	Each	\$2,800.275	\$28,002.75
Cisco CX Success Tracks Level 1 - Extended Service -				
11 Service - 8 x 7 x Next Day - Service Depot - Exchange	10	Each	\$0.00	\$0.00
Cisco Customer Experience (CX) Level 1 - Service -				
12 Technical	10	Each	\$0.00	\$0.00
Cisco Digital Network Architecture Advantage -				
13 Term License - 48 Port - 3 Year		Each	\$620.55	\$6,205.50
14 Cisco Power Supply - 1000 W		Each	\$404.50	\$4,045.00
15 Cisco Stack Kit	10	Each	\$0.00	\$0.00
Total				\$263,708.55